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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 966 2) 2,652 3 52 4 799
- 124 -1,341 -21 - 166 2
3,
4,
5 6,252 6) 78 7) 536 8 3,958 >
-4,120 -15 - 225 -1,124 6
7.
8.
9 82 100 452 1) 1,224 12) 26 9.
-51 -141 - 103 -10
— — —_— — 10.
11.
12.
13) 847 14) 9,732 15) 68 16) 624 13.
- 334 - 3,400 -17 - 100
T - T T 14,
15.
16.
17) 8,548 18) 47 199 672 200 6,536 17
-4,132 -16 - 340 -4.211
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
[ M ath ] www.CommonCoreSheets.com 3 11-20|45140(35(30|25|20(15(10|1 5| O




=

Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 242
1) 966 2 2,652 3 52 4) 799
- 724 -1,341 -21 - 166 ” 1311
242 1,311 31 633
3. 31
4 633
5 6,252 6 78 7 536 8 3,958 > 2132
- 4,120 -15 - 225 -1,124 . 63
2,132 63 311 2.834
- 311
8. 2834
9 82 10) 452 1) 1224 12) 26 0, 31
-51 -141 - 103 -10 311
31 311 1,121 16 10
10 1121
12, 16
13) 847 149 9,732 15) 68 16) 624 13, 513
- 334 - 3,400 - 17 - 100
513 6.332 51 524 4. 6332
15, 51
1. 524
17) 8,548 18) 47 19 672 20) 6,536 7 4416
- 4,132 - 16 - 340 - 4,211
4,416 31 332 2 325 18, 31
10, 332
0. 2325
1-10 195(90(85|80| 7570|6560 |55 |50
[ M a'th ] www.CommonCoreSheets.com 3 11-20(45(40|135|130|25(20(15|110|1 5] 0
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Subtracting without Regrouping Name:
Solve each problem. Answers
31 2132 311 31
63 242 16 311 1.
1121 633 2834 1311
2.
1) 966 2 2,652 3 52 4 799 3.
- 724 -1,341 -21 - 166
— I — — 4,
5.
6.
7.
8.
5 6,252 6) 78 7) 536 8 3,958 0,
-4,120 - 15 - 225 -1,124
- - - - 10.
11.
12.
9 82 10) 452 1) 1,224 12) 26
-51 - 141 - 103 -10
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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